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Instructions :

1. The question paper is divided in five units. Each unit carries an internal

choice.

2. Attempt one question from each unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4. Assume suitable data wherever necessary.

5. English version should be deemed to be correct in case of any anomaly in

translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.

Roll No.................................
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 I/(Unit I)

1. (a) Trivial Dependency 

Define Trivial Dependency.

(b) Relvar R = {A, B, C, D, E, F, G, H, I, J} functional dependenceies

F = {(A . B) � C, A � DE, B � F, F � GH, D � IJ} 

R Normal form Primary Key R

3NF decompose 2NF 3NF 

Consider the relvar R = {A, B, C, D, E, F, G, H, I, J} and the set of

functional dependenceies : F = {(A . B) � C, A � DE, B � F, F � GH,

D � IJ}

R is in which normal form and find primary key and decompose it into

3NF. Also state 2 NF and 3 NF.

/(Or)

(a) Outer Join Natural Join Operations tuples Relations

participate Join Result 

Join operations Extent left, right relations theta

join lost 

The outer join operations extend the natural join operation so that tuples

from the participating relations are not lost in the result of join. Describe

how that join operation can be extended so that tuples from left, right,

or both relation are not lost from the result of the theta join.

(b) Union Compatibility UNION, INTERSECTION SET DIFFER-

ENCE operations relation Apply Union compatible

What is union compatibility ? Why do the UNION, INTERSECTION, and

SET DIFFERENCE operations require that the relations on which they

are applied are union compatible.
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 II/(Unit II)

2. RAID 0 RAID 6 levels RAID 1 + 0 RAID 0 + 1 

RAID levels 

Explain RAID 0 to RAID 6 levels along with RAID 1 + 0 and RAID 0 + 1. Also

describe the advantages and disdvantages of each RAID level.

/(Or)

(a) Query Processing optimization 

Explain Query processing and its optimization.

(b) Query processing cost 

What are the measures to calculate query processing cost ?

 III/(Unit III)

3. (a) transaction ACID properties 

Explain the ACID properties of any transaction.

(b) commit protocol 

What do you understand by two phase commit protocol ? Explain why

and when it is used ?

/(Or)

(a) Transaction states 

Explain various transaction states with suitable diagram.

(b) Conflict Serializability View Serializability 

Describe Conflict Serializability and View Serializability with suitable

example.
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 IV/(Unit IV)

4. (a) commit protocol Distributed database system

What do you understand by three phase commit protocol ? Clarify why

and when it is utilized in distributed database system ?

(b) Parallel database 

Talk about the advantages related with Parallel database.

/(Or)

Distributed database fragmentation Dis-

tributed database Replication methods 

What are different types of fragmentation available in distributed database ? Also

explain various replication methods of distributed database.

 V/(Unit V)

5 ORDBMS DBMS 

Do you think ORDBMS is required in the present situation ? How is it not quite

the same as DBMS ?

/(Or)

(a) Structured  Unstructured databases 

What is the contrast among Structured and Unstructured databases ?

(b) ORDBMS Inheritance 

Clarify the idea of inheritance in ORDBMS.


